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ẇr = I�1 · (�wr ^ (I ·wr))
_R = R · wr ^

wr(t+dt) := wr(t)+dt · f
�
wr(t)+ dt

2 · f(wr(t))
�

R(t+dt) := R(t) · edt·wr(t)

f(wr) = I�1 · (�wr ^ (I ·wr)
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V̇(x) = 0 ;
⇢

w̄2 = 0
w̄3 = 0



w(0) = (10�5,10,0).

I2

I2 I3









V(x) = 1
2 I1w2

1 +
1
2 I2w2

2 +
1
2 I3w2

3 +
1
2(I2 � Ī2)2 + 1
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◆

| {z }
Lg1 V

·u1

+

✓
�1

2
w2

1 �
1
2

w2
3 + I3 � Ī3
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�İ ·wr �wr ^ I ·wr

�
.

kwr ^ I ·wrk2 =

������

0

@
w1
w2
w3

1

A^

0

@
I1w1
I2w2
I3w3

1

A

������

= ((I3 � I2)w2w3)
2 +((I1 � I3)w3w1)

2

+((I2 � I1)w1w2)
2



V(x) = 1
2 ((I3 � I2)w2w3)

2 + 1
2 ((I1 � I3)w3w1)

2 + 1
2 ((I2 � I1)w1w2)

2

+ 1
2(I2 � Ī2)2 + 1
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